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BULAR—)L:OUT1 23578 IN10O1112141518 (BYFRES)

IE i1 BRES J—2 | GROSS | HDCP NET AE
B2 B B =% IN 48 13.2 34.8 £3|23,000H
B Wi =8 IN 52 16.8 35.2 21I3|%2,500M
311 FEX RE IN 51 15.6 35.4 231%52,000/M
411 e — IN 38 2.4 35.6
51t FE &KX IN 50 14.4 35.6 £)3|2%1,0004
o1 B0 g IN 37 1.2 35.8

TTh w78 oty ik ouT 43 7.2 35.8 £)31%1,500MH
81 Z2H =3 ouT 43 7.2 35.8
ofi1 x5 = IN 43 7.2 35.8
10fi1 B HED ouT 49 13.2 35.8 2131%:1,000M

111 BGE SN & IN 36 0.0 36.0 |BGE BFAUYFILY—NH—
12111 T R ouT 42 6.0 36.0
1311 vl B IN 41 4.8 36.2
14411 tw B ouT 47 10.8 36.2
1541 R@E % ouT 40 3.6 36.4 231%1,000MH
16111 WX 8 ouT 40 3.6 36.4
1711 Tk B IN 52 15.6 36.4
1811 5K &= ouT 39 2.4 36.6
19{11 KNE E& ouT 39 2.4 36.6
20111 AR EHIE ouT 39 2.4 36.6 £)3]251,000/
21111 A =3 IN 45 8.4 36.6
2211 B =& IN 45 8.4 36.6
23111 D B— ouT 44 7.2 36.8
24411 By H<H IN 50 13.2 36.8
25({11 RE R ouT 50 13.2 36.8 231%:1,0004
2611 e 1D ouT 43 6.0 37.0
2711 aHF R ouT 43 6.0 37.0
28111 vl S =) IN 43 6.0 37.0
29{u1 O S ouT 49 12.0 37.0
30fi1 M08 sARl IN 55 18.0 37.0 2I3|%1,000MH
3111 g BF IN 55 18.0 37.0
32111 it 1B ouT 42 4.8 37.2
33fi1 AR fug ouT 42 4.8 37.2
34411 8 = IN 42 4.8 37.2
35111 INFR WA ouT 42 4.8 37.2 231%:1,000M




3611 PE 2% IN 48 10.8 37.2
3711 KES =F IN 48 10.8 37.2
381 BB (PEE IN 54 16.8 37.2
cieliv] T BE ouT 41 3.6 37.4
4011 Zik =X IN 41 3.6 37.4 231%:1,000M
41111 R T ouT 47 9.6 37.4
42111 T BA IN 47 9.6 37.4
43111 s g7 ouT 53 15.6 37.4
4447 B =iE IN 52 14.4 37.6
45141 2 —E IN 45 7.2 37.8 £)3|2%1,0004
4611 8 INIE ouT 45 7.2 37.8
4711 B ZEF ouT 45 7.2 37.8
4811 & BN IN 51 13.2 37.8
49(11 =m0 ouT 44 6.0 38.0
50111 28 EX ouT 43 4.8 38.2 £)3]251,000/
511fi1 il fH— ouT 43 4.8 38.2
52111 =5 HBRXRX IN 49 10.8 38.2
5311 WE 8 IN 49 10.8 38.2
5411 B 5 IN 42 3.6 38.4
55111 KE EE ouT 42 3.6 38.4 £31%1,000M4
56(i1 MA@tk IN 48 9.6 38.4
5711 AB BHif IN 48 9.6 38.4
5811 H5CH FH IN 48 9.6 38.4
59{11 FEF GF ouT 48 9.6 38.4
601 —50 B ouT 54 15.6 38.4 £)3]251,000/
6111 Hd =H ouT 54 15.6 38.4
62111 AR & ouT 54 15.6 38.4
6311 AN B IN 47 8.4 38.6
64111 TH BB¥E IN 47 8.4 38.6
65111 £l &x ouT 47 8.4 38.6 231%1,000M4
66t 2% 82 ouT 46 7.2 38.8
6711 Pl ZETF ouT 52 13.2 38.8
6811 s ouT 52 13.2 38.8
69111 BREA &2 ouT 45 6.0 39.0
g(e]ivi BE R IN 45 6.0 39.0 £3]251,000/
71 Mk f2 IN 51 12.0 39.0
721 Il BF ouT 57 18.0 39.0
731 NE Lt ouT 57 18.0 39.0
7441 &F B/t ouT 38 +1.2 39.2
751 78 BB ouT 44 4.8 39.2 231%1,0008
7611 SR BI IN 50 10.8 39.2
TTHI MR —%& ouT 56 16.8 39.2
7811 BE ouT 56 16.8 39.2
7M1 6B Az ouT 43 3.6 39.4




80fi1 Bl IER ouT 49 9.6 39.4 £)3|%1,0004
811i1 Hd F0ts ouT 55 15.6 39.4
82111 mER 28 ouT 54 14.4 39.6
831 B X8 IN 54 14.4 39.6
84411 MO B ouT 41 1.2 39.8
85111 IZE 139 ouT 47 7.2 39.8 £3]251,000/3
8611 2 KE ouT 47 7.2 39.8
8711 F8 8BS ouT 53 13.2 39.8
88fu VLY Y N 5 IN 53 13.2 39.8
89fi1 W& BX IN 53 13.2 39.8
Q01 BHF BT IN 53 13.2 39.8 £)3|%1,0004
91111 —X, f2ZR8 ouT 46 6.0 40.0
92{u1 B E= IN 52 12.0 40.0
elc]iv] HEe B ouT 58 18.0 40.0
94411 W =B ouT 58 18.0 40.0
9511 el BF0 IN 58 18.0 40.0 231%1,0008
o611 fUEf B5E IN 58 18.0 40.0
o7hI NI B ouT 45 4.8 40.2
o8fi1 52 BT ouT 51 10.8 40.2
Qofi1 WA 8 IN 51 10.8 40.2
100fi1 M B ouT 57 16.8 40.2 £)3]251,000/
1011411 mH KLC IN 57 16.8 40.2
10211 =M - IN 57 16.8 40.2
10311 O 1ER ouT 57 16.8 40.2
10441 BwRK B ouT 57 16.8 40.2
10511 RE k= IN 50 9.6 40.4 Z31%1,000M
10611 ME R ouT 50 9.6 40.4
107111 sl £ IN 49 8.4 40.6
10811 WA #B= IN 49 8.4 40.6
10911 SP JIE ouT 54 13.2 40.8
110fi1 NEx #elC ouT 47 6.0 41.0 £)3]251,000/
1111417 5 M= IN 53 12.0 41.0
11211 EH OBEE IN 59 18.0 41.0
11311 2RE B ouT 46 4.8 41.2
11441 KEE RSB ouT 52 10.8 41.2
115{11 g K— IN 51 9.6 41.4 £31%1,0004
11611 Ol B ouT 54 12.0 42.0
117H1 i3 NN a2 I IN 60 18.0 42.0
118fi1 #]AR R—AR ouT 53 10.8 42.2
119fi1 Ok ERF ouT 59 16.8 42.2
12041 EE T3 ouT 59 16.8 42.2 £31251,0003
12111 Tk MLt ouT 51 8.4 42.6
12211 B =168 ouT 61 18.0 43.0
12311 BHF BIK IN 61 18.0 43.0




124411 B FOZK ouT 61 18.0 43.0
125411 art  ¥1E ouT 61 18.0 43.0 £31251,0003
12611 ZUW Tt IN 58 14.4 43.6
12711 Eik BY ouT 58 14.4 43.6
12811 —X, [Z—ER ouT 57 13.2 43.8
12911 T8 i IN 57 13.2 43.8
130f11 8B #M— ouT 62 18.0 44.0 £)3]251,000/
13111 22 BR IN 62 18.0 44.0
13211 BHF =68 ouT 62 18.0 44.0
133111 20 4% ouT 62 18.0 44.0
134411 SXK HEBRF IN 63 18.0 45.0
13511 WEB == ouT 64 18.0 46.0 £)3|2%1,0004
136111 =5 ®B= ouT 57 10.8 46.2
13711 B =37 ouT 60 13.2 46.8
138fi1 2R BRE IN 65 18.0 47.0
13911 MmN ERN IN 65 18.0 47.0
140f1 WEB L= IN 66 18.0 48.0 £)3]251,000/
1411411 MR &F ouT 69 18.0 51.0
14211 BE 82 ouT 74 18.0 56.0
1437IBBE mWE =S+ IN 79 18.0 61.0 231%51,5008
14441 il =R IN 79 18.0 61.0

NIVIST=71Y F—(E2ED




